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—E}, ovaloid & Z2E2AME| AHH4E =52 M 3E (Greenspan, 1944)

>_g_%<8::>lél'9| 7§5|9_| . x:pCOSﬂ+7"COS3ﬂ yquinﬁ—l’Sin:Sﬂ
SREE
A=(p- +g—6
Casel S ,#0, S =T, =0 (p—a)(p+q—-6r)

B:—6r(p+q)

c 2
L — Dsin ﬂ+E C=q"+6rp+9r

S Asin® f+Bcos’2+C

o)

D:(P+Q){p—q+2q(p+q‘6’”)}

Case2 S§,#0, S, =T =0 ptq=2r
o, _ 2Fsir12,8+2G (q-3r) {q+3r p;;tﬂ
S, Asin” f+Bcos"2[+C i {p . 2p(p+q- 6r)}

Case3 T,#0, S5, =5 =0 ptq=2r

(p+q
o, Hsin2p —(q-3r)
T., Asin’° f+Bcos’2B+C

Xy

{q+3r+ p+q)}

p+q-—2r

2ptq+or
(p q) p+q+2r

H



S Ovaloid EMel s2 A=E
p 2 4 2.1 4.19 1 1
q 1 1 1.1 1.19 1 1
r 0 0 -0.10 -0.19 -0.14 0.14
A 3 15 3.800 19.560 0 0
B 0 0 1.920 6.133 1.680 -1.680
C 1 1 0.040 -3.036 0.336 2.016
D 9 25 11.069 30.634 4.982 2.698
E -1 -1 -1.779 -2.821 -1.667 -0.525
F -9 -25 -11.821 -34.895 -4.982 -2.698
G ) 9 6.654 14.867 3.314 2173
H 9 25 8.878  24.545 2.696 4.984




Stress concentration

15:#0, Sy=Tey=0
TSy #0, 85 =Tey =0
T, w0 S,=8,=0
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Stress concentration

[S;;EEI-,S_-'.= T.I'_'|'=D
H8,#£0 8;=T., =0
M Ty, #0, =&, =0

C

IS;*G. S_l, = T:ym D
II8,#0 8= Tpy=0
UL Ty # 0,8:m Sy = 0
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